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Q.9  Ethylene forms ethylene chlorohydrin by the action of -
(A) Dry HCI gas (B) Dry chlorine gas
(C) Solution of chlorine gas in water (D) Dilute hydrochloric acid
Q.10 How many dibromo derivatives are formed when bromine is added to 3-Methyl Cyclohexene in

1,2-dichloroethane.

(A)2 (B) 3 (C) 4 (D) 6
Q.11  When (E)-3-bromo-3-hexene treated with CH;0™ in CH,OH. The product formed is :
(A) 3-hexyne (B) 2-hexyne (C)2,3-hexadiene (D) 2,4-hexadiene
H
Ph—{—CH,
Q12 o1 p, —5 P(Alkene) —2——> ——————)Q (Alkene)
3 A Cly Acetone
OCOR
Alkene (P) & (Q) respectively are
Ph CH Ph CH; CH CH
AN o N C/ . 43 C/ :
(A)Both X | S 48 o e
(A)Bo ! eh ( )H3c/- Neti ph” Ve
H
T + CH, CHy  ,CHj
©Both [ D)Both K
Ph e Y CH Ph Ph

Ozc=o ().(,«-f—:é-h y oM
Wzonolysis of CH,;~CH=C=CH, gives g oo

(A) Only CH,CHO ~(B) Only HCHO
(DyMixture of CH,CHO, HCHO & CO,

(C) Only CO,
Q.14 O-xyleneon ozonolysis gives
0 0
CHO I CH,-C=0 I
(A) | & CH,-C-CHO (B) | & CH,-C-CHO
CHO CH,-C=0 ,
H i
CH,~C=0 “.GHO . CH,-C=0 CHO
5 it NS @ 2  JCH,-C-CHO & |
CH,-C=0  CHO CH,-C=0 CHO

Q.15 The reacting species of alc. KOH is—
(A) OH- (B) OR* (C) OK* (D) RO~
Q.16 Anti-Markownikoff’s addition of HBr is not observed in -
(A) Propene (B) But—2-ene (C) But-1—ene (D) Pent—2—ene
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Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

OZO +CH3MgBr H%0++A Con H;80, ‘B (VO »C : A,Band C are -
A > L L] t]

(i1) Zn,H,0

SR e S T o Ho, CH,  CH 5
50 G- S G

HO C}-]3 CH3 CH3 HO CH3 CH3 CH«;
O
O OCm o0 O O
CHO

Which has least heat of hydrogenation —

A2 T ) /_=_..J (C)% (D) /___\————
H;
(3" ey -
OH
H; - CH, H
(A) H (B) i © (D) ’

For the ionic reaction of hydrochloric acid with the following alkenes, predict the correct sequence

of reactivity as measured by reaction rates:

(I) CICH=CH, () (CH,),C=CH, (Ill) OHC.CH=CH, (IV) (NC),C=C(CN),
(A)IV>1>T1> 11 B)1>IV>II>III
©) I>0>IV>1 @) >1> 1> IV

CH,-CH=CH-CH; —* 5 Productis Y (non-—resolvable) then X can be —

cis

(A) Br, water A (B) HCO,H

(C) Cold alkaline KMnO, (D) all of the above

) ﬁ reagent R, @ reagent R g .
i oa » bl ‘ HO OH

R, and R, respectic...y are -
(A) Cold alkaline KMnO,, GsO,/H,0, (B) Cold alkaline KMnO,, HCO,H

(C) Cold alkaline KMnO,, CH,-0-O-CH, (D) C;H,CO,H, HCO,H
















